



St. Louis County, Minnesota

Date of Report: 12/17/2025 2:11:17 AM

General Details

 Parcel ID:
 415-0010-02670

 Document:
 Abstract - 01265368

Document Date: 07/07/2015

Legal Description Details

Plat Name: LAKEWOOD

Section Township Range Lot Block

51 13

Description: E1/2 of W1/2 of SE1/4 of SW1/4

Taxpayer Details

Taxpayer Name OJA JORDAN D & ERIKA L

and Address: 3028 LAVIS RD

DULUTH MN 55804

Owner Details

Owner Name OJA ERIKA L
Owner Name OJA JORDAN D

Payable 2025 Tax Summary

2025 - Net Tax \$5,037.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$5,066.00

Current Tax Due (as of 12/16/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,533.00	2025 - 2nd Half Tax	\$2,533.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$2,533.00	2025 - 2nd Half Tax Paid	\$2,533.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 3028 LAVIS RD, DULUTH MN

School District: 709
Tax Increment District: -

Property/Homesteader: OJA, ERIKA L & JORDAN S

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$101,900	\$419,900	\$521,800	\$0	\$0	-	
	Total:	\$101,900	\$419,900	\$521,800	\$0	\$0	5273	





St. Louis County, Minnesota

Date of Report: 12/17/2025 2:11:17 AM

Land Details

Deeded Acres: 10.00 Waterfront: Water Front Feet: 0.00

D - DUG WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot V	Vidth:	0.00							
Lot D	Depth:	0.00							
The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at									
https://apps.stlouiscountymn.gov/webPlatslframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.									
			•		ails (RESIDEN	•			
Ir	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	HOUSE	1930	2,34		2,572	U Quality / 0 Ft ²	1S+ - 1+ STORY		
	Segment	Story	Width	Length		Foundat			
	BAS	1	6	14	84	BASEME			
	BAS	1.5	0	0	1,360	BASEME			
	OP	1	12	14	168	FOUNDATION			
	Bath Count	Bedroom Co		Room (Count	Fireplace Count	HVAC		
	2.75 BATHS	4 BEDROOM		-		0 C	&AIR_COND, PROPANE		
			Impro	vement 2	2 Details (AG)				
Ir	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
_	GARAGE	2022	89	6	896	-	ATTACHED		
	Segment	Story	Width	Length	Area	Foundation			
	BAS	1	28	32	896	-			
			Improvem	ent 3 Det	ails (DETACHE	ED)			
Ir	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
_	GARAGE	1985	62	4	624	- DETACHED			
	Segment	Story	Width	Length	Area	Foundation			
	BAS	1	24	26	624	FLOATING SLAB			
Improvement 4 Details (DETACHED)									
lr	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE	1988	91:	2	912	-	DETACHED		
	Segment	Story	Width	Length	Area	Foundat	tion		
	BAS	1	24	30	720	FLOATING SLAB			
	WIG	1	12	16	192	-			
Improvement 5 Details (POOL HOUSE)									
lr	nprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	SLEEPER	1990	62	4	780	-	-		
	Segment	Story	Width	Length	Area	Foundat	tion		
	BAS	1.2	24	26	624	FLOATING	SLAB		
	OPX	1	5	8	40	FLOATING	SLAB		





St. Louis County, Minnesota

Date of Report: 12/17/2025 2:11:17 AM

			Improv	ement 6 Deta	ils (POOL)				
Improvement Type Year Built		•	Improvement 6 Details (F		Basement Fini	sh S	tyle Code & Desc.		
niiprovement Type Tear Built		24		240	-	-	- CONC SURFC		
	Segmei			Length	Area	Fc	oundation		
	BAS	0	12	20	240		-		
	<i>B</i> , (6	Ţ,							
Improv	vement Typ	e Year Built	•	ovement 7 De	tails (ST) ss Area Ft ²	Basement Fini	eh S	tyle Code & Desc.	
_	GE BUILDIN					-	311 3	tyle Code & Desc.	
O TORK	Segme					- Foundation			
	BAS	1	•	8 11		POST ON GROUND			
		· .			(225 542)				
	. <u>-</u>		-	ment 8 Details	•				
_	vement Typ			Main Floor Ft ² Gross A		t ² Basement Finish Style Code &		tyle Code & Desc.	
STORAG	GE BUILDIN			384 38					
	Segmei BAS	•	y Width 16	Length 24	Area 384		oundation ATING SLAB		
	DAS	1					ATING SLAD		
			•		(BOILER ST)				
	vement Typ			Main Floor Ft ² Gross Are		Basement Finish Style Code & I			
STORA	GE BUILDIN		54	•	54			-	
	Segmei	•	•	Length	Area		Foundation		
	BAS	1	6	9	54		POST ON GROUND POST ON GROUND		
	OPX	1	6	3	18	P051	ON GROUN	D	
			Sales Reported	to the St. Lo	uis County Au	uditor			
	Sal	e Date		Purchase Pric	e:e		CRV Numl	per	
	07	//2015		\$57,000			211952		
	07	//2015		\$242,400			211511		
			As	ssessment H	story				
Class Code Year (Legend)					Def				
			Land EMV	Bldg EMV	Total EMV				
			\$101,900	\$346,800	\$448,70			0 -	
2024 Pay	/able 2025	Total		\$346,800	\$448,70		\$	0 4,425.00	
		201	\$101,900	\$324,700	\$426,60	00 \$0	\$	0 -	
2023 Payable 2024		Total	\$101,900	\$324,700	\$426,60		\$	0 4,266.00	
	201	\$97,200	\$231,900	\$329,10	00 \$0	\$			
2022 Payable 2023		Total	\$97,200	\$231,900	\$329,10	00 \$0	\$	0 3,215.00	
2021 Payable 2022	201	\$58,100	\$194,000	\$252,10	00 \$0	\$	0 -		
	/able 2022	Total	\$58,100	\$194,000	\$252,10	00 \$0	\$	0 2,375.00	
			7	Tax Detail His	tory				
			Special Assessments	Total Tax & Special Assessment	s Taxable La		e Building MV	Total Taxable MV	
Tax \	Year	Tax	Assessinents	ASSESSITION					
Tax \		Tax \$4,773.00	\$25.00	\$4,798.00	\$101,9			\$426,600	
	24					00 \$32			





St. Louis County, Minnesota

Date of Report: 12/17/2025 2:11:17 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.